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sst 2 sst 3 sst 4 sst 5 sst 6 sst 7 sst 8,9

tokens 480 737 1586 1852 1546 1544 1715
tokens (average� 32 49.13 105.73 123.46 103.06 102.93 122.5
types 162 193 332 375 348 316 342
types (average� 10.8 12.86 22.13 25 23.2 21.06 24.42
type/token ratio 34 26 21 20 23 20 20
Guiraud 7.39 7.11 8.34 8.71 8.85 8.04 8.26
sentences 107 100 157 161 161 157 166
sentences (average� 7.13 6.66 10.46 10.73 10.73 10.46 11.85
mean length of 
utterance

4 7 10 12 10 10 10
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sst 2 sst 3 sst 4 sst 5 sst 6 sst 7 sst 8,9
tokens (average� 32 49.13 105.73 123.46 103.06 102.93 122.5
types (average� 10.8 12.86 22.13 25 23.2 21.06 24.42
sentences (average� 7.13 6.66 10.46 10.73 10.73 10.46 11.85
mean length of 
utterance

4 7 10 12 10 10 10
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/are, this/it is, I think/guess/ assume, Ican see, it seems @-,/���-��
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fre sst 2 fre sst 3 fre sst 4 fre sst 5 fre sst 6 fre sst 7 fre sst 8,9

4 look look look 4 it s a 5 seven o clock 9 there is a 10 there is a 8 there is a 7 is playing the

4 seven o clock 4 seven o clock 4 red wine and 5 in this restaurant 5 in a restaurant 7 seven o clock 6 playing the piano

4 they are they 3 nante iuno kana 4 there are three 5 seven o clock 4 and they are 6 playing the piano 6 there is a

3 it s seven 3 uhm nante iuno 4 there is a 4 all of them 4 is a big 6 the time is 5 it s a

2 and uhm err 2 ah the man 3 and a man 4 er we can 4 there are three 5 and there are 5 this is the

2 are they are 2 er there are 3 and er there 4 in front of 4 this is a 5 are having dinner 4 a restaurant and



• seven o' clock, play the piano, he drinks wine, in the restaurant, be having 
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fre sst 2 fre sst 3 fre sst 4 fre sst 5 fre sst 6 fre sst 7 fre sst 8,9

4 look look look 4 it s a 5 seven o clock 9 there is a 10 there is a 8 there is a 7 is playing the

4 seven o clock 4 seven o clock 4 red wine and 5 in this 
restaurant

5 in a restaurant 7 seven o clock 6 playing the 
piano

4 they are they 3 nante iuno kana 4 there are three 5 seven o clock 4 and they are 6 playing the piano 6 there is a

3 it s seven 3 uhm nante iuno 4 there is a 4 all of them 4 is a big 6 the time is 5 it s a

2 and uhm err 2 ah the man 3 and a man 4 er we can 4 there are three 5 and there are 5 this is the

2 are they are 2 er there are 3 and er there 4 in front of 4 this is a 5 are having 
dinner

4 a restaurant and
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all noun 
phrases

pronouns of all 
noun phrases

pronouns without 
antecedents

proportion of pronouns without 
antecedents

sst level2 33 24 18 0.75
sst level3 56 17 12 0.71
sst level4 104 51 4 0.08
sst level5 108 47 6 0.13
sst level6 101 48 2 0.04
sst level7 101 36 3 0.08

sst level89 120 51 4 0.08

sum 623 274 49 0.18
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all noun phrases proportion of pronouns without antecedents
sst level2 33 0.75
sst level3 56 0.71
sst level4 104 0.08
sst level5 108 0.13
sst level6 101 0.04
sst level7 101 0.08
sst level89 120 0.08
sum 623 0.18



+�

• �-2=�(ARE:H:��2J��K8VTU4�6��I"�CQ→�),IO>0PRQ
�9
��S�Q@GN�7F�� 4MF+;Q�/=H:JFKH:<9

• �#I��'H��=H:→5
H.$=C?I!<LH:8��2J3&IDH=Q

• �)�6J�*,K��'H��2J	&ID:EK%1BE:QG+;PRQ9



��4lfi\cX[��h��
• '&m�*,MeadLNGI9TbX[L�I@P� M.!L�"BQP2�h2�
L4<>;PM=:EM)�=O�OQP�
�3-	LH<I+�DP:

• ��m
8,M�6M$1R�/C9TbX[L%�DP� R�?@6HM^i[j_S
]X[9UVTYi9eX[bgM�9�(MWZ`d9WZ`dM#�9WZ`dM��kL�
AF:EM�9$1R�H�H/�CK>O� R.D�0�R6HM^i[L�7C
fi\cX[R��C9ead�9ead5JM.!M4<R/�CF:



��4�
��
• ����
���
	�
���������

sst level 2 sst level 3 sst level 4 sst level 5

man of the center 
couple

�he
�man

�he/him
�a man

�he
�a man
�one man of the 
couple

�man
�the guy of the couple
�the man wearing yellow 
jacket

sst level 6 sst level 7 sst level 8,9
�man �man

�husband
�gentleman

�husband
�the guy
�gentleman
�the guy with yellow suit
�the man at the center table
�the guy sitting center table
�the man who is tasting wine
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sst level 4 sst level 5
�he
�a man
�one man of 
the couple

�man
�the guy of the couple
�the man wearing yellow 
jacket

sst level 8,9
�the guy with yellow suit
�the man at the center table
�the guy sitting center table
�the man who is tasting wine
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